o
—

—~
&)

o
i
~/~

o)

e}
i
/N

<

time [h]

ANY n Q
[;_Y wu] 99e1 yymo1s

Sy a =
<
S 0 - © 0 <t ™ N e
[tau) 1ej0trRIp
=
Q
E
+—~
[ W] worMqLISIp

[3r) [5\]
) )
— —

0.0

Sy 0 - © 10 <t lag) (o]

[tau) 1ejetreIp

time [h]

[ W] worMqLISIp

[3r) 5\l
) )
— —

0.0

S 0 - © 10 <t [ag) (o]

[tuu) 1ej0trRIp

£) 500 210

[eB}
=
<
<]
=
& B
o
=
S
1O
e
~N
O
=
+—
T T T T T T T
1O [an) O o L0 (e 0 [a=)
KR a3 K B oa 3
— — — — o o (an] o
[ wo] wonnqLIsIp
b}
=
-
K O
= E
———
T T T T T T
™ a —
T|m m|5& LT[ 9)el UOIYRULIO]
o5}
=
<
2 g
=
m B
=)
E
©
1O
=
~N
D]
k=
+>

T T T T
< ™ [a\l —

[[_q wu] oyer ypmois

1.5 2.0 2.5 3.0
time

1.0

0.5

<
S

[m]

diameter

]

[h

]

diameter [nm



